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Industrial Development Bank of Pakistan {IDBP) was foundedin | .
6 vy o 7 AP R
Wood Cotton Rice Cloth Which is not main export item of Pakistan.
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Adam Smith Kar Marx Hitler Ricardo  |Founder of Socialism.
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521 S«<l| S>| S=1 Equilibrium level of National Income is attained where
BT P 25 Bl B Uueieal 6
Legal Money | Near Money | Metallic Money | Standard Money | Our curency notes are.
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Travellers cheque | Bearer cheque | Cross cheque %ﬁer cheque |A cheque which tan be cashed without any identification
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Credit Creation | Proportional | Fixed Fiduciary | Exchisfige rate | Pakistan follows which one system regarding
system Reserve system system | sysi issuance of currency Notes.
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Budget | Need of Loan | Balancedm, | grafit motive || WHat is dissimilar in Public & Private Finance
duration Expenditures
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Cannon of Cannon of Cannon of Cannon of | Charging of taxes from individuals on the
equality productivity simplicity certainity | basis of their capacity to pay is
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What percentage of Pakistan's population lives in villages.
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Hard working Over Shortage of Shortage of | What is not a cause of our low level of per
people Population Capital Natural Resources | capita Income.
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Increase in Political Industrial ricultural Farioe .
lliteracy bl | development | deveiopment | Which will not enhance our per capita income
LDA DHA PHA NHA e i€ 32 2 Ul Lt 19
In Pakistan institute for the development of roads is
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Part I J -

Answer briefly any Eight parts from the followings:- 8x2=16 -//zfel L1 41 e Me L ibs -2
What is meant by Net National Product? fe_sl e itk 3% (i) Define National Income. -/ /<37 34787 (1)
Define Marginai Propensity to consume. YY) 1 YT fﬁ‘ (ili)
What is meant by Disposable Personal income? e e da TU-"’_; S (iv)
Define Quantity theory of Money. —u//i,7d /.5, (vi) What is meant by Barter System?%c iy Ve it (v)
What is meant by Token Money? ‘<.l Ve ik (vii) What is meant by Metallic Money?%<,l» Ve s dbes (i)

What is meant by Demand Deposits. -< i/ lf; uﬂlb{b (x) Define Bank. -QI-E;J\.-(_Q (ix)
What is meant by Musharika? tespUe S (xil)  State the meaning of Interest. -/ /ulk(x for (xi)

Answer briefly any Eight parts from the followings:- 8x2=16 -J/zfcliz L 3T = de Bf3to -3
Name the important heads of Expenditure of a government? 0 kel e, () |
What is a good tax system? fe UipBeL A KU (i) What is progressive tax? (e sy e ug;y? (i)
What is meant by Canon of 'Equality'? T sl g’,:__ ‘L.,,f,ud,-f”,iu? (iv)
What is Balance Budget? e sly Ve tiui? (V)
Point out four disadvantages of International Trade? ?U.J.,-;.n,.‘ﬁ,,?g: =AFSIE (vi)
What is Exchange rate? e tpa bl (i) What is Free Trade? S/ /oo € Bl (vii)

What is meant by deficit misbatance of Payment?
Write Names of Stock exchange of Pakistan?

Describe sector wise allocation of three important sectors 6f

National Income of Pakistan.
What is meant by Un-Paid services?

fe iy I._f:-_ul.—‘";ﬂ WPl u;_? LI (ix)
?u:'ﬂrt{. ﬁ Je Lyl (x)
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e Ve shisbe i (xif)

Answer briefly any Nine parts from the foliowings:- 9x2=18 _ S/l PL12 ) o e Ldito -4
Write four methods to measure econoniic development. -u:"f'é)‘«j;& Jjg J Ky, u’l.v (i)

Define developing economy. - Aad Atk 07 (i) What is water logging and saliniy.c s Ve s (E (i)
Write four merits of motorway. -u:'%;by&‘.:}r (v) What are un-economic holdings..- 2l /e Wi d (iv)

Wirite four reasons of unemployment in Pakistan.

\Write four departriénts of State Bank of Pakistan.

Write four functiohs of National Bank.

Write four income means of provincial govts of Pakistan.
Write four exports of Pakistan.  -ufatsTele Stfl (xi) What is Usher.

-u.‘.'ﬂ..':.ﬁﬁuk Jd;fiui,. S UL'P(& (vi) .
S LT (vi)
AL 5JSF (il
B LATSUPF St (ix)

What is equality in islamic economic system.
Write four merits of socialism.

Part 1§
Note: Attempt any three questions.
Explain circular Flow of Ngtlo_nal Income?
Write the causes of inflation in Pakistan.
Write down.cannons of taxation.

Explain the Absolute Advantage Theory of International Trade.

Describe the kinds of maobility of Labor.
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